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Entity Description Accident Rationale Explanation

amazon our car is at 15 km/h

[ TRY | (Entity #1) My car is heading toward Entity #1. At a given speed, | would The rationale must use the (E tity
The footpath wall crash into the side of Entity #1 or Entity #2 as | could not stop #) word" i t ad of o bj ect noun. The
on the front left on time. description is about a t ty d may
(Entity #2) hav p sitional refer In
The grey car in the this th ratio I started with a
front pI ation of an environment s h

a footpath wal\, speed, and the front
car (Entity #2). Then, it explains how
theaccd nt wo Id by ncluding
how the ash wo td r, such as
we could htth em in the b k rwe
could not stop on time.
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Hazard Generation Example: Speeding 8 Braking

Annotation: Annotation: Annotation: Annotation:
Entity #1 brakes, due to speed, my car won't stop in time and crash into Entity #1 brakes, due to my speed and Entity #2, my car won't stop in time Entity #1 pulls out from parking spot, does not check mirror or factor my Entity #1 decides to go behind Entity #2 to cross the street, misjudges my
the back of Entity #1 and rear ends Entity #1 approaching speed, due to this, | can't stop in time and hits Entity #1 speed, won't be able to stop in time and hits Entity #1

Our: Our: Our:
Our: Entity #1 brakes, due to speed and Entity #2, my car hits Entity #1 Entity #1 pulls out from parked position, does not check for oncoming Entity #1 may try to go around Entity #2 by coming into my lane. | may not
Entity #1 brakes, does not factor my speed, due to speed, can't stop in traffic, due to this will hit Entity #1 be able to stop in time and hit Entity #1
time and rear end Entity #1 GPT-4V-:

In the hypothetical scenario, traveling at a speed of 75+ km/h in wet road GPT-4V: GPT-4V.

conditions, our car could potentially lose traction and control, leading to an As our car was traveling at 45 km/h, Entity #1, highlighted by the magenta As our car approached the intersection at 45 km/h, Entity #2 (Cyan box)
GPT-4V: accident with Entity #1 (Magenta box: the car directly ahead). The box, made a sudden stop to avoid an obstacle not visible in the image, unexpectedly changed lanes without signaling, causing our driver to swerve
Our car, traveling at a speed of 45 km/h, could potentially be involved in a likelihood of a collision increases if Entity #1 were to make a sudden stop causing our car to react too late and resulting in a rear-end collision with to avoid a collision. This sudden maneuver led our car into the path of
rear-end collision with Entity #1 if it were to suddenly brake and we did not and our car's stopping distance were insufficient due to the high speed and Entity #1. Entity #1 (Magenta box), a cyclist crossing the street, resulting in an

have sufficient time to react and stop. slippery road surface. accident.
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